YEAR 10 = SIMILARITY. ..
Trigonomelry

What do | need to be able to do? ” feuwords

By the. end of this unt you should be able I
to:

Enlarge: to make a shape bigger (or smaler) by a given muttiplier (scake. factor)
[ Scake Factor: the mutipler of enlargement
* Work fhentl with hupoteruse, opposte | Constant: a vale that remains the same

| |
! |
! |
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|
| and adacent sdes I Cosine ratio: the ratio of the kngth of the adiacent side to that of the hypotenuse The sine of the |
| ¢ Use the tan sine and cosire ratio to ] I
' |
' |
' |
' |
' |
|

find missing side. kengths I cgmplerr_\eht
. Use the tan, sine and cosine o o I Sine ratio: the ratio of the length of the opposite side to that of the hypotenuse

find missiig anges [| Tangert ratio: the ratio of the length of the oppostte side to that of the adacent side

e Cabute sides usng Puthagors’ 1] Inverse: function that has the opposite effect

Theorem ” Hypoteruse: longest side of a right-angled triangke. 1t is the side opposite the right-angle
_______________________________________________ i
: Ratio in right-angled triangles e te s & te s : : Hupotenuse, adjacent and opposite ONLY rght-anded trandkes are bieed n :

this way
| ) ako remin the same : : ’ ODJOCENT |
I 2cm 100 em . I OPPOSITE Next to the angle in question |
| e > * I oo07em| || Ol opposie an e onge Often labelld lost I
| N ab || Vel o bbelsecond '
I ab [a=L g‘ 0 007 x I Postion depend upon the. ange Obwaiss the longest side :
: 2 A 50 100 70 1 in use for the question HYPOTENUSE Oways opposite the right angle |
L 007014 1 Useful to label this first |
r _—_—_—_—_.—_—._—_—_—_—_—_—_—_—_—:;:::_?:;1—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_
| Tangent ratio: side lendths | | Sin and Cos ratio: side lenths |
I
, Tand - omoste sice L 0PPOSTE [ 69 - opmoste s - sdocertse | |
an oppostle § I Snf@ = opposite side ODJOCENT CosO = adjacent side I
: adjacent side ¥ x cm hypoteruse side x cm hypoteruse side | |
I = I
| Substitute the vales into the tangent formula I Substitute the valves into the |
| I NOTE |
l= T34 = 0 I 12cm The Sin(x) ratio is 12 em ralio formua I
| &2 —
B £ x : I HYPOTENUSE tge ?;(’)”3 )“3 the HYPOTENUSE  Eduations might need |
S " ] Equations might need | : o0 rato rearranging lo solve :
| 10cm aragngosole | e e e e e e e e =
I OPPOSITE -0 1l Puthogoras theorem € 0 o —— |
| xxT34 - 10, |1 Puthagoras theorem @ [ yptene- g + 2 ,
I Places to look out for Puthagoras
| x=_10 . -14&m | | - Perpendcular heights n isosceles |
: Tan34 I %, Tris is commutative — the triandes |
_______________ | Z square of the hypotenuse s - Diagonak on right. angled shapes
[T—————————————— I g % e@ua\io the gurr? of the | - Distance between coordinates :
| Siﬂ, COS, Tan: OY\O)'(’,S Il s squares of the two shorter - Ony length made from a right anges |
| : : sides |
I [ LE AR } | - -----------------———-———T-—T=x
: ODJOCENT Label tiandk | : anales Because. trig ratios remain the. same for simiar : I heu anﬂl@s 0° and 90° 1
3cm doel your trange | shapes you can generalse from the folowing I |
This side coud be catculated
: = = and choose g I : wsing Puthagoras LRI : :[ Tan0 =0 ] [ M ] I
5] trigonometric ratio | X |
) . 1
: s Substitute vates it | : Tan30 - 1 Cos30 - V3 Sn30 = 2 : | This vae camot be cefred—its |
3S tte. ratio formui | 'V3em 2¢m V3 2 3 | mpossbl as you cannot have two |
: 4cm - | : 6o\ (Tan60=+/3 || Cos60 - % Sin60 = =~ : : j? dnges n  Lirge I
| 6 =Tan %};g% :I Tem | |mh2m :
| Tand= _ 3 A 2 [] " |
| 4 6 =S opposte side |I 2 |I[ Sin0 - 0 ][ Sin90 = | ]|
| OTant 3 hupolerse ] 111 e [N (Tanas-1) [00345= i][sms - i]: | !
4 | D vz V2 )11 cos0-1 ] (L Cost0-0 ]!
I . | 8 =Cos! adicentsice | ! H I
| 6-36% hypotenuse side | | | Tecm Il I
| ~ 1 I



